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=16
Find the value of 2-32—!1 HINT: Write out several terms of the series first. SCORE: /4PTS
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An employer ran a year-long charity campaign. During the seventh week, $716 was donated. SCORE: /SPTS

[a] If the amount donated every week was $24 higher than the amount donated the previous week,
how much was donated over the entire year (52 weeks) ?
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[b] If the amount donated every week was 3.2% higher than the amount donated the previous week,
how much was donated the first week ? Round your answer to the nearest cent.
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; n(n+1
Using mathematical induction, prove that 17 =22 +3% =4 4+ ... 4 (=1)"™'n* = (-1)"" potl] SCORE: /12 PTS
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for all positive integers 7.
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Use the entries of Pascal’s Triangle to expand and simplify (7n° —2n°)*, | 24 & & ) SCORE: /5PTS
You must show the intermediate step in the expansion to get full credit.
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